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BRIGIDINE —~ QUADRATICS TEST ~ YRI©

Year'10 Half Yearly 2007 Student: _
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Stage 5.1 —5.3 Common \ N
(30 minutes) ' g
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Show all necessary working ,
. Neatness may be taken-into-consideration inthe awarding of marks

1.' Expand and simplify (2x -3y
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2. Fully simplify 3/54 +23/24"
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4. Show that 6?? can be written like a+/3 + b6 , find “a” and “b”
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5. Simplify V16x' P ) (1 mark)

6. Solve these simultaneous equations 3x+4y=10 (® (3 marks)
' : x—~5y=-32 O

. W
7. Sekre-ﬂaese-qﬁ&dfaﬁeequaﬁegs;(gf'wfy 4o vr: answes o Stmple Surds )
a)2x* +5=11x (2 marks) . b) 5x* +2x=1="0. (3 marks)

|

8. Solve the following quadraﬁ(;'équation by completing the square: '~ (3 marks)
L +#7x-4=0" - (correct to 2 decimal places)
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SOLUTIONS (

N —

Year 10 Half Yearly 2007 "~ Student:
Stage 5.1 —5.3 Common ! i
(30 minutes) f
Section D A Teacher: !

Show all necessary working
Neatness may-be taken-into-consideration in the awarding of marks

1. Expand and simplify (2x-3)° (1 mark)

(22-3) (2x-3)
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2 Fuﬂysmph*@ér +2324" (2 marky)
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3. Fully snnphfy
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4. Show that ~—X2 642 can be wiritten like aI 3 4 b6, find “a”and “b”

25 T _
B 6+J2

2 ox - al3 Fble

N G ZE ’ ) . e

_ &J3 r € o %
= o “ ;

= 3+




6. Solve these simultaneous equations 3x+4y=10 (© (3 marks)
: - x—=5y=-32 (O

@ %3 = 3=~d5yE ~96 ©
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a)2x>+5=1lIx (2 marks) b) Sx2+2x 1 . (3 marks) MW
22~ #3=0 C 0 = -bilp-iac
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8. Solve the following quadratic equaﬁon by completmg the square: ! 0(3 marks)

x_2_4_~7x 4=0 - (comrectto 2 dec:mal piaces)
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+~+ 3.5 = 37?5 /\// '
oC o= i“m tg\s

> = 0.53,7 153



